1. AHEAIE & A4

A
ok
N
Pal
)
T
=
5L
ME!
:I.Z

O MY . 52RO A3
AAF ZAFAAE B A 2E(www.vt-e
.vt-exam.or.kr)

O "sEHZHA 5 0] — e
uﬂ%oﬂﬂL IL;;}]Z]'”J A aF HE F 29 3} o
. . | LIS S
33 /L}oq LA A — FH A j]O;] "



@ TFJAH | A5FA S EF
ALY A e 2 T
AN A7 eI A T o] A

« ofef CHOHCKAR), 2 5o Mo tE(miEmmtEEMR) SSAt

2,
%
oft
o
ok,
rr
S
_|_l
1
o
O
o
nC
tlo o

] JHE MBE x =200 siYsts X210 U= N2E HS510{0tE

1. T=OARHS HN6ZCI2MI1EHI12 0HS XL

O H7IQIS Wk FA7IHe “E4(lR)TE A

L

AYBHAS BHYAS 248242 O|MO|0{0F BHESEUAL A

. =0 =
= Hd o O O o = -
A" Alsidol 242252 2 2 & 670 o)

X (HaArd) SSEHA S8 Fols u]I[E13s, AT 7R)

» ddtistuEtyssa), @ik (ssEda), sFUSu(E s,
CHEabst 7| stistu(Bteis=etah), MEHet(s= 201, gzt
S=2d1), LSELEHN(SSEH1), HYUHSU(ESZEZIAE =
BRIt u (e s 24, AYZ=ttistuEtyiss 241}, sAEste
(S=2d1, trEdtstuidss2daalstn), STEEetu(

Ol
Mo
H
o
i

2. TOIAMEL HI6ZXCIZHI2Z0l WE HMI16X212MI12HI12 i Sl

O B7RRIT e FA7|He] “dISHA7, “SA(AB)TEA, T=
AT A wdE 5OS((R2 AR e ol “EHTEA
« ZoHEEAMe ZeloFY 2 248242 o|Molojof BHESRUAL X
Mg Aol 242250 =2 RE 670 olu)
X (RIAME) SERZA $47| FIlAIS BRI |BEHL, U5 F8)
F RAFYStR s SR A, RACRINS I (S, AR
(B S S, FottfstuEo|2 &SR, WSS SIS,
ATciEnOftE ), SRS NESLAS

3. T=OIARH) HNGZCI2MITEHI2% 0HSXL : 2434 71F ABAF (1=

1. THOIANH) HI16ZQI2H12HI3E X!
D o= 52 05 B WHZo|Y A4S



=
aT

0. iE 165462 +oAIH LRINERE FA H2ZXH1=Z Sl

N

wl
=1

lof

—

~

O
LHo

1)

—r
110
e

L0

==
I[e]

= of

of 470 A

[=x|
=

F S2HAA KZHA|

1)

—r
110

4

Tor

T

=

%0
ol

Kto
KO0
B

OFF
E

oA| CH & K}

E
=

Stof of

A
TOo

¥ 24.223.(F) 24:007tX| 0]

6. 1S M165462 +oAIH LRINZERE FA H2XH22 HSI

N

=
=

HAM A

= SAH 7

S =g 218282 7HK|

(=]
i
o

Az Ao CHR2EE 2ot A}

oA| CH & K}

E
=

==5}0{ 0f

% 24.223.(F) 24:007tX| 0]

& HI2ZHI3= oSt

I+

Bl

7. & HI16546% Ol

o
Nlo

!
B

o
Ulo



al
—

o] CH

=

12 SEHHAL XHAY
|

=~

A
to4 of

A

A2AAAM CFR2EE Hrot ALE
T ©

w2 22 A kA

NZHA
5 o
A1 7] vl o

O oA A6

¥ 24.223.(F) 24:007tX| 0]
[e)

Q@ 'T=271%

Nd

o

(@)

O/\]

[€)

1

o]

5}

7;11/\
5
| Al AE (www.vt—exam.orkrn) 2 M&E A=

s

A 7

7

J

jm

H

1

02 BERAA AHAY
=
7;11/\

5

jelns
=

l

A
A4} 7

]_

7]

T

(<]

S=EHAL XA A

il

g

A

=]
=
=
-
P

(=X3
=4,

i

(& 031-702-8686) = ©

1o}



